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GENERAL KNOWLEDGE - GENERAL KNOWLEDGE

Question No.1

by the Department for the promotion of Industries and Internal Trade?

(T SATAR BT FITAT FAT) H ALY T T FAT TUTT AT?
(A) O 4th (Correct Answer)

4th
(B) O qst

1St

(C) O 2nd (Chosen option)
2nd

(D) O 3rd
3rd

What was Madhya Pradesh's rank in the Ease of Doing Business 2019 ranking released

3T HatieT 3R 31afe AR faHTeT ganT IRy &1 378 o7 31T 3597 forterd 2019 RFer

Marks: 1.00
Bookmark

Question No.2

The hereditary soldiers of the Mauryan period were known as:
A &t & FATIT HivehT T & T H ST ST T
(A) O Bhrutakas (Chosen option)

EGELS

(B) O Maula
Hterr

(C) O Atavivala
3rordiarern

(D) O Vardhaki (Correct Answer)
gefehY

Marks: 1.00
Bookmark

Question No.3

Sandhya Agarwal is associated with which one of the following sports?
TEAT JreraTel fereaafortad 7 & fore el & o131 87
(A) O Hockey (Chosen option)
gleht
(B) O Chess
et
(C) © Badminton
SsfdceT
(D) O Cricket (Correct Answer)
forae

Marks: 1.00
Bookmark
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Question No.4 Marks: 1.00
Bookmark
Where was the Eleventh edition of Bal Sangam festival 2019 organized?
16T TIH 3cqd 2019 T TIRGAT TEHIUT Fgl AT TShaT IT AT?
(A) O Pune
qur

S

(B) O New Delhi (Correct Answer) (Chosen option)
CERTZ |
(C) © Mumbai

qoaS

el

(D) O Lucknow
[SREG R

Question No.5 Marks: 1.00

Bookmark
Madhya Pradesh celebrated its Foundation Day on 1 November 2020.

FEF G o 1 Fda 2020 FT 31T T T HeArT|
(A) O 65t (Correct Answer) (Chosen option)
657
(B) O goth
607
(C) O g2nd
62
(D) O e1st
61

Question No.6 Marks: 1.00

Bookmark
Name famous hockey personality from Madhya Pradesh.

HET YSeT & TG 8lehl SATorcded T #ATH IS |
(A) O Shankar Laxman (Correct Answer)
QT TEHOT
(B) O Udham Singh
3YHA fiig
(C) O Dhyan Chand (Chosen option)
T TS
(D) O Balbir Singh
ECCIRERE

Question No.7 Marks: 1.00

Bookmark
What is the name of the scheme launched by the Madhya Pradesh government to boost
the immunity system of the people of the State in times of COVID-197?

FEY Y& TIHR GaRT COVID-19 & AT H T & N9l I T TN &THAT & 5T
ToIT & T 915 FISTeT T 18T T 82
(A) O Immunity Badhao Yojana
T SfeRIEres AfFT ST Astar
(B) O Covid Bachao Yojana (Chosen option)
HITAS FATIT TlsTel
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(C) O Corona Harao Yojana
PRI GIAT Tratetl
(D) O Jeevan Amrit Yojana (Correct Answer)

SHIaeT 33 Frstelt

Question No.8 Marks: 1.00
Bookmark
The famous hockey player Shankar Laxman, born in Madhya Pradesh won his first
Olympic Gold medal in the year .

HET YT H Fod) UAE gl FATST 2ehT ST&HUT o 37T UgolT 3iTei ek TI0T Yeeh ay
H Sfrar|
(A) O 1956 (Correct Answer)
1956

(B) O 1960
1960
(C) O 1992
1992

(D) O 1982 (Chosen option)
1982

Question No.9 Marks: 1.00
Bookmark
Which ministry has recently introduced Foreign Contribution (Regulation)Amendment
Act,2020 in Parliament?

ore T o gTer & 7 Tae # el sreerT (faferaser) weitst siffaer, 2020 der far
e?
(A) O Ministry of Defence
& FHATO
(B) O Ministry of Sports
Yol HATA
(C) O Ministry of Home Affairs (Correct Answer)
6 HATTT
(D) O Ministry of Finance (Chosen option)
[EGKEICES

Question No.10 Marks: 1.00
Bookmark
Who has been appointed as the new Chairman of State Bank of India?

HRCAT TE deh o T 37e0eT & &9 & fohd fogera fovam arr g2
(A) O Dinesh Kumar Nath (Chosen option)
fee1er AR Ty
(B) O Dinesh Kumar Gupta
fee1er HHAR e
(C) O Dinesh Kumar Khara (Correct Answer)
feerer FaR @
(D) O Dinesh Kumar Singh
fester AR g

Question No.11 Marks: 1.00
Bookmark
Ordnance Factory Khamaria is the major production unit of which one of the following?
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3 AT 3ehTs WARET Feafafd 7 ¥ fraeh! 99@ Scuret 39S 572
(A) O Aircraft (Chosen option)
gaTS STgTST
(B) O Armoured Vehicles
TEAEG ATgeT
(C) O Ammunition (Correct Answer)
MATTRG

(D) O Materials and Components
A 3R geh

Question No.12

Who among the following became the first ever hockey player to win the prestigious
‘World Games Athlete’ of the year 2019 announced in January 20207

STeTel 2020 # BN FTAfSad ‘Tes I1Fq TYele 3H & ST 2019 GIEHR T Siiclt drel
fAFfaf@d # @ &l gl & uger [TaTs! s
(A) O Vandana Katariya
ECCIETAINe)]
(B) O Rani Rampal (Correct Answer) (Chosen option)
=T AT
(C) O Gurjit Kaur
TS R
(D) O Sushila Chanu
efrer =1

Marks: 1.00
Bookmark

Question No.13

In honour of which personality in October 2020, the Prime Minister Narendra Modi
released a commemorative coin of 100 rupees?

3fergaiT 2020 H Tohd S fehcied o TFAT &, FETAAAT oig AIG o 100 $9 T THARE {¥erent

SR fRam?

(A) O L. K. Advani
Tl . 3TSaroft

(B) O Ram Vilas Paswan
TH ooy qrear

(C) O Vijaya Raje Scindia (Correct Answer)
e v R

(D) O Atal Bihari Vajpayee (Chosen option)
3ol TgRT SreradT

Marks: 1.00
Bookmark

Question No.14

Who inaugurated the three books published to commemorate the birth anniversary of

Guru Nanak Dev 20197
T[% #1TeTeh &d ST ST 2019 & 3TAET H FRIRIC clleT JEcIohl I ScHTeeT fehdlel fhar?
(A) O Harsimrat Kaur Badal only
ehdel GUAHI SIY Teel
(B) O Ramesh Pokhriyal only
Shadl THT TrERIATe

(C) O Both Harsimrat Kaur Badal and Ramesh Pokhriyal (Correct Answer)

Marks: 1.00
Bookmark
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(Chosen option)

A FR g 3 W TaRare gt
(D) O Narendra Modi
g HIEY

Question No.15 Marks: 1.00
Bookmark

Which Indian Chess Player has won the World Rapid Chess Championship in 20177
fore TR At fReaY & 2017 & faea Nz ereaisr AfFuaafag i &2
(A) O Koneru Humpy
PIoTE gFdr
(B) O Pentala Harikrishna
UeTell gRepeor
(C) O Harika Dronavalli
g givTacelr
(D) O Viswanathan Anand (Correct Answer) (Chosen option)
gAY 3eie

Question No.16 Marks: 1.00
Bookmark

Name the books published to commemorate the birth anniversary of Guru Nanak Dev
20197

I[E #AleTeh & T 2019 H ST ! HeATod & TNT Th1fRIcT GEcTehl T AT TAST?

(A) O Guru Nanak Bani, Nanak Bani and Sakhian Guru Nanak Dev (Correct
Answer) (Chosen option)

T ATl dTelt, alleTeh dTeit, 3 TRELT T Aol GF
(B) O Guru Nanak Bani and Japji Sahib

7% FAleTeh STl 3R STl Fifge
(C) O The Seeker’s Path and Nanak Bani

HrerT T IEAT 3R ATAeh it
(D) O Japji Sahib and Sakhian Guru Nanak Dev

STaSiT |Tfge 3R Wi&e I aAlelsh o

Question No.17 Marks: 1.00
Bookmark

Who was awarded the ‘Vishwamitra Award’2018 for Kabaddi?
Sagsl & foIT faRariarT 2018 & fohd FFATieId T aram?
(A) O Harshita Tomar

JAGIGIEEY
(B) O Pranay Khare

YURT &Y
(C) O Harsh Yadav (Chosen option)

ARICCH
(D) © Ghanshyam Chaudhry (Correct Answer)

eI AT

Question No.18 Marks: 1.00
Bookmark

What is the name of the PPE kit developed by Indian Navy with innovative breathable
material to provide comfort to healthcare workers in COVID-197?
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HITIS-19 F e HIAST T GiALT oot & T HRAT AT G@aRT et Qare Areaft
(Fearafed e HERT) A Fefaa IS e &t e Far 872

(A) O Raksha Kavach
J&TT sha

(B) O Nav Yuva
oid Zdr

(C) © Corona Kavach (Chosen option)
HRIAT Had

(D) O Nav Rakshak (Correct Answer)
oq (&Th

Question No.19

In which year did the Indian Mutiny began in Meerut which is also touted as the First War

of Independence?

AS A A Aale ford a [ g3 o7 TSy MTSTIeY o 2rat Ferd & &9 & 87 SAlofl Ser ¢7

(A) O 1857 (Correct Answer) (Chosen option)
1857

(B) O 1890
1890
(C) O 1870
1870
(D) O 1865
1865

Marks: 1.00
Bookmark

Question No.20

Matatila Dam is built on which river in Madhya Pradesh?
HEI Y2 H ATATCTEN 5H ohd 78T 9T F112T IR-T &2
(A) O Ken
el
(B) O Mahi
AR
(C) O Sone
HieT

(D) O Betwa (Correct Answer) (Chosen option)
daar

Marks: 1.00
Bookmark

GENERAL HINDI - GENERAL HINDI

Question No.1

TR o 317 5. v, i qfietr IrE Y Hele AR o=

39Yerd aTerg H Tl HeTaR I 3o 7Y qarsv|

(A) O epreieperer e
(B) O teret & egorem

(©) O gt yebe st

O

Marks: 1.00
Bookmark
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(D) Siia ST (Correct Answer) (Chosen option)

Question No.2

‘3737-31871 ST oIt ITeT Y AT Fgd 87
(A) O amfe

B) O reum

€) O Fafa

D) O sgema (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.3

‘1 EH R EATH - FleT-AT IR TGatr $8 arerd & ToIv 31ieren 3 87
(A) O 3rr

B) O g

©) O 38w

(D) O ?Eﬁj;! (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.4
‘gfd & ST 91 A T F foT T ersg F41 g9 T?
(A) O grar
B) O e
(C) O gawrwit (Correct Answer) (Chosen option)

D) O Jorer

Marks: 1.00
Bookmark

Question No.5
BIerT 97 fo@dT g’ Tg AT ¢ -
A) O e ama (Correct Answer)

(B8)O HYFeT a1 (Chosen option)

Marks: 1.00
Bookmark

Page-7



©) O Asrarw

O)O gt aras g

Question No.6

AT B I NS T Uge! &1 I hegd, NS I T a1 T 8T &, TWifehd dlepiiard &l

F7 37T 872

(A) O @y ¥ 3@ A @ 3Tt A1 G AT

(B) O #m7 gt & wgar & wer ut &Y 5557 (Correct Answer) (Chosen option)

(©)O gt foreir a1 g 31T X Rl 3R 1 e

B) O grfer & T GIHTE-FIHTE T AT o &l

Marks: 1.00
Bookmark

Question No.7
FeTeT ol I Qe T BaT?
(A) O 3req
(B) O gaer (Correct Answer) (Chosen option)
(C)O ECzate)

(D) O IchY

Marks: 1.00
Bookmark

Question No.8
T 91T fqeredl & § ‘T2l H ‘UeT’ YT Sl ol U Felet dTell 2Teq shisi-AT 572
(A) O gearger
B) O garger
(C) O gaget (Correct Answer) (Chosen option)

D) O samus

Marks: 1.00
Bookmark

Question No.9
I e [ AT 31T §2

O

Marks: 1.00
Bookmark
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A doar
(B) O Y& wrar=im (Correct Answer) (Chosen option)
©)O grwr

() O 37t 7o

Question No.10
fFafaf@a 7 & la-91 v eg d5a 7L 872
(A) O sfareht (Correct Answer)
(B) O Ioel
(C)O gav (Chosen option)

(D) O sgea

Marks: 1.00
Bookmark

Question No.11
FCT TRt TaraTe e § -
(A) O greft (Correct Answer) (Chosen option)
(B) O Rxor
©) O fag

D) O ¢x

Marks: 1.00
Bookmark

Question No.12

STl TR o FATEIH W HTEI T qUTT FRaT ST FgT PleT-HT IR el &2
(A) O gamefaa (Correct Answer)

B) O frggar

©) O ==

D) O zwerea (Chosen option)

Marks: 1.00
Bookmark

Question No.13

Marks: 1.00
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GeAF, TIHRAT, TFEIGT H Fhael: Piel-HT HATH gam?
(A) O agalfe, e, HAYRY (Chosen option)

(B) O srcarfrema, wefemm, Tsig‘q"l‘% (Correct Answer)

(©)O egeg, sgaife, sremhom

(D) O Fafema, seaify, sreiema

Bookmark

Question No.14 Marks: 1.00
Bookmark
I T A Torer Aiwer T Tt giem 872
(A) O & afexr @1 (Chosen option)
(B) O zor gfeer &r
©)O 3rnfy afcerar
(D) O gig @fewr &1 (Correct Answer)
Question No.15 Marks: 1.00
Bookmark
fArifofEaa & & Fla-T1 T 2ueg, o w181 872
A) O 3@ar
(B) O zfawr (Correct Answer) (Chosen option)
©) O zem
(D) O 3¢
Question No.16 Marks: 1.00
Bookmark

Tt & & a1ffeT fraerr qaaaT ereg 82

(A) O Fread

(B) O gy

(€) O gt (Correct Answer) (Chosen option)

DO weh
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Question No.17

37T AT TR & G AP T (T,0,310,31) & 3171 & fomgr Afeer o7 freaer gherm 82

(A) O srnfe afeer
(B) O & afeer
€O gf& &fer (Correct Answer) (Chosen option)

(D) O zurafey

Marks: 1.00
Bookmark

Question No.18

T & ¥ g T8 T RIS gl ST 872

(A) O wgor
(B)O &[JTIT (Correct Answer) (Chosen option)

€) O 4x

D) O zremr

Marks: 1.00
Bookmark

Question No.19
‘SR &7 e erse T gam?
(A) O 3m@ifirer (Correct Answer) (Chosen option)
B) O sirqaies
€)O st

(D) O ITIgFA

Marks: 1.00
Bookmark

Question No.20
T 7 @ leT-AT AT WA HTehTel T I8! o2

(A) O zer wrer @

(B) O g=ar arsht @R 81 (Correct Answer) (Chosen option)

(€)O

Marks: 1.00
Bookmark
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T 31T

(D) O fyarsit sraiera & 3T

GENERAL ENGLISH - GENERAL ENGLISH

Question No.1

Choose the CORRECT word to fill in the blank in the given sentence:
America’s earliest were known to be Indians.

(A) O settlements
(B) O visitors
(C) O immigrants (Chosen option)

(D) O inhabitants (Correct Answer)

Marks: 1.00
Bookmark

Question No.2

Fill in the blanks with the appropriate determiner in the given sentence:
children like to eat vegetables during meals; and still eat green leafy
vegetables - they prefer only potatoes and sometimes peas.

(A) O more, few
(B) O some, few (Chosen option)
(C) O few, alot of

(D) O few, fewer (Correct Answer)

Marks: 1.00
Bookmark

Question No.3

Fill in the blank with a suitable preposition in the given sentence:
He goes to school foot.

(A) O by
(B) O with
(C) O on (Correct Answer) (Chosen option)

(D) O from

Marks: 1.00
Bookmark

Question No.4

Choose the appropriate option to complete the given sentence:
Regardless of their adorable faces

(A) O hippopotamus’s are the world's deadliest land mammal, that kill many people
each year in Africa.

Marks: 1.00
Bookmark

Page- 12



(B) O hippopotamuses are the world's deadliest land mammal, that kill many
people each year in Africa. (Correct Answer) (Chosen option)

(C) O hippopotamus are the world's deadly land mammal, that kills many people each

year on Africa.

(D) O hippopotamuses are the worlds deadliest land mammal, that kill many people

each year in Africa.

Question No.5

Fill in the blanks with the appropriate modal in the given sentence:
| think Lalitha see a doctor quickly for she
her health.

(A) O can, might
(B) O ought to, may (Correct Answer)
(C) O might, can (Chosen option)

(D) O can, may

be in deep trouble regarding

Marks: 1.00
Bookmark

Question No.6

Fill in the blanks with the suitable article in the given sentence:
eye is most sensitive organ in human body.

(A)O An,a,a
(B) O The, the, the (Correct Answer)
(C) O An, the, a (Chosen option)

(D) O The, a, the

Marks: 1.00
Bookmark

Question No.7

Fill in the blanks with the suitable article in the given sentence:
laptop cost me whopping 1.5 lakh.

(A) O The, no article
(B) O A, the (Chosen option)
(C) O The, a (Correct Answer)

(D) O The, the

Marks: 1.00
Bookmark

Question No.8

Fill up the blank with the CORRECT option to complete the sentence:

None of the CCTV cameras are working, ?

(A) O did they

Marks: 1.00
Bookmark
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(B) O should they (Chosen option)
(C) O are they (Correct Answer)
(D) O do they
Question No.9 Marks: 1.00
Bookmark
Choose the best option to combine the given sentences.
Manisha took her parents out to dinner. Manisha forgot her credit card.
(A) O Manisha took her parents out to dinner because she forgot her credit card.
(B) O Manisha forgot her credit card when she took her parents out to dinner.
(Correct Answer) (Chosen option)
(C) O Manisha took her parents out to dinner after she forgot her credit card.
(D) O Manisha forgot her credit card so she took her parents out to dinner.
Question No.10 Marks: 1.00
Bookmark
Fill in the blanks with the CORRECT pronoun in the given sentence:
flowers are in the vase? are lovely. arranged them?
(A) O Whose, It, who
(B) O Whose, They, She (Chosen option)
(C) ©O Who, They, Who
(D) O Whose, They, Who (Correct Answer)
Question No.11 Marks: 1.00
Bookmark
Choose the CORRECTLY punctuated sentence.
(A) O Please bring the following items ; a torch, a comfortable pair of sneakers and
some mosquito repellent.
(B) O Please, bring the following items; a torch, a comfortable pair of sneakers and
some mosquito repellent.
(C) O Please bring: a torch, a comfortable pair of sneakers and some mosquito
repellent.
(D) O Please bring the following items: a torch, a comfortable pair of sneakers
and some mosquito repellent. (Correct Answer) (Chosen option)
Question No.12 Marks: 1.00
Bookmark
Choose the CORRECT option for the sentence written in error below:
The quality of apples are not good.
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(A) O The apples were not good.

(B) O The quality of apples is not good. (Correct Answer) (Chosen option)

(C) O The quality of apples have been good.

(D) O The quality of apples were not good.

Question No.13

Fill in the blanks with the suitable tense in the given sentence:

| you know as soon as the parcel

(A) O let, had arrived
(B) O will let, arrived (Chosen option)
(C) O will let, arrives (Correct Answer)

(D) O am going to, arrives

Marks: 1.00
Bookmark

Question No.14

Choose the phrasal verb that best fits the blank in the given sentence:

All political parties have started to

(A) O work with
(B) O work out
(C) O work around (Chosen option)

(D) O work towards (Correct Answer)

peace.

Marks: 1.00
Bookmark

Question No.15

Choose the option that has all the three words spelt correctly:

(A) O Efficient, convoy, repar

(B) O Cramp, craft, convert (Correct Answer) (Chosen option)

(C) O Contrbute, control, converse

(D) O Convect, convince, converge

Marks: 1.00
Bookmark

Question No.16

Choose the option that will fill in the blank in the given sentence:
agreements seem to be favoured in some countries.

(A) O Antinuptial

(B) O Prenuptial (Correct Answer)

Marks: 1.00
Bookmark
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(C) O Pronuptial

(D) O Multinuptial (Chosen option)

Question No.17 Marks: 1.00

Bookmark
Choose a word which is similar in meaning to the word in bold.

The farmer has fenced and ploughed the land.

(A) O Withdrew
(B) O Bulldozed (Chosen option)
(C) O Instilled

(D) O Cultivated (Correct Answer)

Question No.18 Marks: 1.00

Bookmark
Fill in the blanks with the suitable preposition in the given sentence:

your potential and dedication, you will soon race the top.

(A) O Under, at
(B) O For, to
(C) O With, to (Correct Answer)

(D) O With, at (Chosen option)

Question No.19 Marks: 1.00

Bookmark
Choose a word which is opposite in meaning to the word in bold.

Although she is the best behaved child, at times she turns into a moody, tempestuous
teenager.

(A) O boisterous
(B) O frenzied
(C) O easygoing (Correct Answer) (Chosen option)

(D) O furious

Question No.20 Marks: 1.00

Bookmark
Choose the CORRECT option to fill in the blanks in the given sentence: He does not

know he will score passing marks ____ he will fail in the First Term exams.

(A) O but, also

(B) O neither, nor
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(C) O whether, or (Correct Answer) (Chosen option)

(D) O if, when

GENERAL MATHS - GENERAL MATHS

Question No.1

All candidates are given full credit for this question in view of technical error.

In a box, there are 18 yellow, 17 black, and 16 white balls. One ball is picked up
randomly. What is the probability that it is neither yellow nor white?

U sierd H, 18 Urell, 17 Freit 31T 16 The e & | U Siel ol JeTodd &9 T F 38T
ST &1 FT ITiehar & 6 I8 o7 ar dielr & 3R 7 & awhe &7
(A) O 5/17 (Chosen option)
5/17
(B) O 6/17
6/17
(C)O 1716
17/6
(D) O 17/5
1715

Marks: 1.00
Bookmark

Question No.2

Which of the following is known as a quadratic formula?

eAafed 7 & 8 gfaurd ¥F & ®9 & S S1dr g2

(&) O i
bE-b" —4ac

2a

b+ ~b —dac

2a

© O A

D)O _
®) —b+Ab* —4ac

(Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.3

Marks: 1.00
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It is given that (2a, 3a) lies on the line x/2 = 3y + 8 ; evaluate 'a' ?
e s & % (22, 3a ), W@ x/2 = 3y + 8 W U §, 'a’ &I Hpiche HiforT?
(A) O a= -1 (Correct Answer)

a=-1
B)YO a=1

a=1
(C) O a=-2(Chosen option)

=-2

(D)O a=2

a=2

Bookmark

Question No.4

Diagonals of a rhombus are (29x7) cm and (2x52x73) cm. Express the area of the
rhombus in prime factorization form.

Teh FATEST & TIH0T (25%7) AT 3 (2x52x73) {Ar §| 3117 0TS 9 7 FHAIT

% 8Tl I TS HL|
(A) O 25x52x74cm? (Correct Answer) (Chosen option)
25x52x 742
(B) O 26x52x74cm?
26x52x74 QHY?
(C) O 22x52x72cm?2
22x52x 72 FHY?
(D) O 2x5x7 cm?
2x5x7 TH2

Marks: 1.00
Bookmark

Question No.5

If a and b are odd numbers then which of the following is even?
g a 31T b Tawe FEa §, dr Aeafafad 7 & silq-a1 77 82
(A) O atb+1

a+b+1
(B) O a+b (Correct Answer) (Chosen option)

atb
(C)O ab

ab

(D) O ab+2
ab+2

Marks: 1.00
Bookmark

Question No.6

Find the equation of a straight line which is perpendicular to X- axis and also passing
through a point (2,5) ?

Teh HIEfY J@T T HHRIOT AT HITSTT AT X- 3787 W olerare &1 A e g (2,5) & gl
ST 812
(A) O x+5=0

B)O y-5
y-5
(C)O y-2
y-2
X=2

(D) O

Marks: 1.00
Bookmark
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x=-2=0

Question No.7

Solve:
25.4 X 1000

g fIfae:

25.4 X 1000

(A) O 2540
2540

(B) O 254
254

(C) O 254000
254000

(D) O 25400 (Correct Answer) (Chosen option)
25400

Marks: 1.00
Bookmark

Question No.8

Which of the following fractions is NOT equivalent to g 2

frfafgad St g ”—;ﬁaﬂﬁﬂ:@%ﬁ
(A) O

20
35
20
35
(B) O
14
8
14
©)O |16
49
16
49
DO 6
28
16
28

(Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.9

All candidates are given full credit for this question in view of technical error.

Find the volume of a cone of height 20cm and of base radius 7cm. (take = 22/7 )

20 it F1S 3R 7 AT MR ST aTel ey o 3Tl AT Y| (7= 22/7 o)
(A) O 1078 cm3

Marks: 1.00
Bookmark
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1078 =3
(B) O 35cm3
35 73
(C) O 1075cm3
1075 {3
(D) O 308 cm? (Chosen option)
308 @A®
. Marks:
Question No.10 1.00
Bookmark
The length of longest pole that can be placed an the floor of aroom s 10 m and the
lengih of longest pole thaf can be placed In the room is 10«,5_ m. The height of the
roomis:
Tch R o el T TG 91 T aldd J=3 Ay Uiet oh] dals 10 Hiex § 3R e 1 T S Wehrd
I TR ool Uil Y i 1042 DX @1 FA I S &
(AYO 7.5m
7.5#
(B) O 10m (Correct Answer)
10 #
(C) © 8m (Chosen option)
8 Al
(D) O 6m
6 #r
Question No.11 Marks: 1.00
Bookmark
In a supermarket, the shopkeeper announced 20% discount after increasing the price by
30%. Then how much profit he will get for an item which actually costs Rs 3007
Teh GIRATNCT H, GHACR o e H 30% HT g & ITT 20% T I G0N HT| o7 36
T & oI 38 Tehctelr o187 gIaT TSierehy areciideh shiater 300 T9d 872
(A) O 30
30
(B) O 12 (Correct Answer) (Chosen option)
12
(C)O 60
60
(D)O 20
20
Question No.12 Marks: 1.00
Bookmark
Which of the following is true for two co-prime numbers?
HrfofEad & & Pl o T&-3719T &I & Tolv AT g2
(A) O TheirL.C.M.is 1.
3eTehT oIgcctd HHTIAY 1 8
(B) O Their H.C.F. is equal to their product. (Chosen option)
31T HgcdH HATIA, 3eTeh IUTeThel & aIaR g
(C) O Their L.C.M. is twice their H.C.F.
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IoTel A HATICY, 3e7eh HgeaH FHTIAD U &1 1T g
(D) O Their H.C.F. is 1. (Correct Answer)
3T Aged TATdS 1 81

Question No.13 Marks: 1.00
Bookmark
From the pie chart, If the budget of the family is Rs 10800, what is the saving ?

(A) O Rs 1200

(B) O Rs 950

(C) O Rs 1000

(D) O Rs 1050 (Correct Answer) (Chosen option)
1050 9

Question No.14 Marks: 1.00
Bookmark
Find the product of zeros of the polynomial.

(x=+f5 )(x+5)

SEYE o YAl & IUTAB Pl AT F|

(x=of5 )(x+~/5)

(A)O 5
5

(B) O -5 (Correct Answer)
-5

(C) O 1 (Chosen option)
1

(D)O 0
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Question No.15 Marks: 1.00

Bookmark
Which of the following is the standard form of linear equation in two variables?

RFATIET & O Fi & T F 3T =0T &7 AS 9§72
(A) O ax + by? +c =0, aand b are not both zero.
ax +by? + ¢ =0, a 3 b AT LT G 81
(B) O ax+bx+c=0,aandb are not both zero.
ax +bx + ¢ =0, a 3{R b Gl e T &1
(C) O ax+by +c =0, aand b are not both zero. (Correct Answer)

ax +by + ¢ = 0, a 31 b T =T 7TE o

(D) O ax2 + by + ¢ =0, a and b are not both zero. (Chosen option)

ax? +by +c=0, a3 b =l LA AL B |

Question No.16 Marks: 1.00

Bookmark
a and 3 are the zeros of a polynomial, such that a+f=6 and af=4 . Identify the
polynomial.

aaﬂusuasagqaésem%, Safra+p=63Rap =4.a§qa£rqmrvraﬁ%l
(A) O x2+16
x2+16
(B) O x2-6x+4 (Correct Answer)
x2-6x+4
(C) O x2-4
x2-4
(D) O x2+8x+6 (Chosen option)
X2+8x+6

Question No.17 Marks: 1.00

Bookmark
Parth left home for the bus stop 15 minutes earlier than the usual time. It takes 10
minutes to reach the stop. He reached the stop at 8:40 a.m. What time does he usually
leave home for the bus stop?

a1y o HHT FAY W 15 e Tgel & 57 T & folv e g 2| ia e qge 3 10
fAisTe o1o1d €1 a8 et 8:40 ol Feld R qgam| AR W g 98 7 & A0 e & el
Ao &2
(A) O 8:45 a.m. (Correct Answer) (Chosen option)
8:45 qdTea
(B) O 8:30 a.m.
8:30 qdreet
(C) O 8:555a.m.
8:55 qaest
(D) O 8:45p.m.
8:45 9

Question No.18 Marks: 1.00
Bookmark

Forwhat value of 7, the number in the unit place of 3nbecomes 02
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na Rra A fag, 3" arged oie 0 ghsrem?

AYO n=1
n=1

(B) O For no values of n (Correct Answer) (Chosen option)
For no values of n

(C)O n=10
n=10

(D)O n=2

n=2

Question No.19

For what value of k the equation 3x2 —2x + k = 0 have equal roots?
k % forer AT & forw walentor 3x2 — 2x + k = 0 & Hel HAT 872
(A) O -3 (Chosen option)

-3

(B) O 1/3 (Correct Answer)
1/3

(C)O 3
3
(D) O -1/3
-1/3

Marks: 1.00
Bookmark

Question No.20

The length of rectangle is 2 cm more than its breadth. The perimeter is 48cm. The area

of the rectangle (in cm?) is:

3T &I SIaTS ST dISTs T 2 THT HH &1 IRATT 48 FHT &1 3T T 87Tl (FH2 H)

&
(A) O 143 (Correct Answer) (Chosen option)
143

(B) O 96
96

(C)O 128
128

(D) O 144
144

Marks: 1.00
Bookmark

GENERAL SCIENCE - GENERAL SCIENCE

Question No.1

Which among the following does not possess kinetic energy?
frafaf@a & & frae aifast o w161 gidr 2
(A) O A battery (Correct Answer) (Chosen option)
T delt
(B) O A ball thrown upwards
FU T HR bl gé’ EICY
(C) O Aflying bird
35T E3T Taft

(D) O A moving car
T e g5 R

Marks: 1.00
Bookmark
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Question No.2 Marks: 1.00
Bookmark
The undefined nuclear region of prokaryotes are also known as

TeFhieh o TR TRATI] &1 hr & & H Y ST ST 8
(A) O nucleolus
higeh
(B) O nucleic acid (Chosen option)
e 3T
(C) O nucleus
ETech
(D) O Nucleoid (Correct Answer)
SheehTeT

Question No.3 Marks: 1.00
Bookmark
82?1&?56 following substances is a natural indicator is used to detect acids and bases.
ferafof@a vert 7 & ver wh e Fae § St 3 3R &TRT &1 9ar oemet & fore 3u=iter
o ST §1 39 ggemi=iv]
(A) O Litmus (Correct Answer) (Chosen option)
foeaw
(B) O Phenolphthalein
AT
(C) O Methyl orange
AT 3T
(D) O Methyl red
EIDCEES

Question No.4 Marks: 1.00
Bookmark
Which one isNOT an example of Coelenteratam (Cnidaria)?

eieger (fAeTRar) &1 3eTex0T goie § Hia-ar e &2
(A) O Sycon (Correct Answer)
HTSHTT
(B) O Hydra
RQEES
(C) O Seaanemone
HAGRe (FIT feraiter)
(D) O Jellyfish (Chosen option)
STolTher

Question No.5 Marks: 1.00
Bookmark
The proteins and lipids, essential for building the cell membrane, are manufactured
by .

HIRAHT Breel & F#ATT & foT 3maeds Wié vd fofus, garr fAfAa g €1
(A) O plasma membrane.

Siaged el
(B) O mitochondria.

HIARTOTHT

aN
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(C) O golgi apparatus. (Chosen option)
Mool ITRIOT
(D) O endoplasmic reticulum. (Correct Answer)

3aéed ST

Question No.6

Chewing mouth parts are found in:
eIl ATl 7 & B HUT AT EI
(A) O Cockroach (Correct Answer)
farerersT
(B) O Fishes
Aofordr
(C) © Earthworm
3

(D) O Birds (Chosen option)
gfarar

Marks: 1.00
Bookmark

Question No.7

Which one of the following is an example of mixed salt?

AFENT@a & @ sia-ar AT oauT &1 T 36T &7
(A) O NaHSO,4
NaHSO4

(B) O Bleaching Powder (Correct Answer) (Chosen option)

e ot (s aEsv)
(C) © Mohr’s salt
AR FquT

(D) O Cu(OH)CI
Cu(OH)CI

Marks: 1.00
Bookmark

Question No.8

Which one of the following compounds will burn with a yellow flame emitting a lot of

black smoke?

ﬁmﬁ@aﬁﬁaﬁa—mwﬂ%mﬁwqﬁﬁyﬁﬁ%m&aﬁm

(A) O Propane (Chosen option)
gideT

(B) O Ethane
e

(C) O Propene (Correct Answer)
grder

(D) O Butane
e

Marks: 1.00
Bookmark

Question No.9

Among physical and chemical change, generally

#ifae 3 Tarafas yRadar & §, 3EGR )

(A) O achemical change is reversible and physical change is irreversible

Marks: 1.00
Bookmark
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Tl aRade gidadt § 3R sifas aRads saRade g

(B) O both are reversible
et wfdadr 81

(C) O physical change is reversible and chemical change is irreversible (Correct
Answer) (Chosen option)

siifae aRader gfaadf & 3k arafae aRade safadea &1
(D) O Both are irreversible
gt IIRETAT B |

Question No.10 Marks: 1.00

Bookmark

Select the correct relation for the final velocity ‘v’ of a body. If ‘F’ is the force acting on it,
‘m’ its mass, ‘U’ initial velocity and ‘t’ time.
fendlt forenrer o 3ifcier 9ot 'v' & ToIT |el Heler gt | AT ‘F 39 o) R ided alell o §, v
R GeTHATT ‘m’, RN o1 ‘v’ AT FqHT t &
(A) O v=u+Ft/m (Correct Answer)

v=u+Ft/m
(B) O v=ut+Ft

v = ut +Ft
(C) O v =u+Fm/t (Chosen option)

v =u+Fm/t

(D) O v=u+Ft
v =u +Ft

Question No.11 Marks: 1.00

Bookmark
The slide that is prepared in the school using stain and water to observe under the
microscope is called the

HTSHIEHIT & TEcl H&T0T & TorT grar 3R 9Tl 7 3T ek Tl W AR T ST arelt
FASS I T ST &1
(A) O Temporary mount (Correct Answer) (Chosen option)
TFNANY AT
(B) O Permanent mount
YTATIC ATSC
(C) O Coloured mount
FHTS AT
(D) O Instant mount

Question No.12 Marks: 1.00

Bookmark
The force of gravitation acting between any two masses is:

Torely 8ff & GeaaTal o S RN Jocarehyor o ¢

(A) O Inversely proportional to the ratio of those masses.
3T GeTHATeAl & JeTUTC o S cshATIATH

(B) O Directly proportional to the product of those masses. (Correct Answer)
3T GEAHTAI & JUARS & WL TS

(C) O Inversely proportional to the product of those masses. (Chosen option)
3oT GeGHATaAT o I[UTeABel h SFcohHTdTcl

(D) O Directly proportional to the ratio of those masses.

3o ST HATEAl o 3T & WY ITegarfaisn
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Question No.13 Marks: 1.00
Bookmark

Haemophilia is a

A thTeraT T gl

(A) O deficiency disease
RGRIEER KT

(B) O congenital disease (Correct Answer) (Chosen option)
STeHSITd 9T

(C) O acute disease

e et

(D) O chronic disease

areremferen T

Question No.14 Marks: 1.00
Bookmark
The condition in which the crystalline lens of a human being at old age becomes milky
and cloudy is called .

g Teuf fores geraer & Aa o1 fheceli o | gferar 3T e g1 S g, _
FHgellc 5
(A) O presbyopia (Chosen option)
ERATIES
(B) O myopia
[GETEIEAAL
(C) O cataract (Correct Answer)
Afaarieg
(D) O hypertension
3T {&ddig

Question No.15 Marks: 1.00
Bookmark
2.93g of NaCl completely reacts with 8.5g of AgNO3 to produce X grams of AgCl and
4.25g of NaNO3. What is X?

AgCI & X I 3i NaNOg T 4253 Scdee] shiet g NaCl T 2933 AgNO3 & 8.5 91T
& | T e & ArfAfRar aar &1 X T g2
(A) O 7.18g (Correct Answer)
7.18am
(B) O 4.25¢
4.2531
(C) O 14.36g (Chosen option)
14.36911
(D) O 8.59
8.5a1

Question No.16 Marks: 1.00
Bookmark
Which of the following statements is WRONG according to Joule’s heating effect?

T # & & & oA HYUA S[el & AT T (ST EicaT Stheree) o IR Ield o2

(A) O Heat produced is directly proportional to the square of the current passing
through the conductor.
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SCUTTG ST, Hlefeh o HIET H A IRl ol aTell &R o a3 o HIe FHATITCH gieit
gl

(B) O The heat produced is directly proportional to the resistance of the conductor.

3cUTTeT FAT, TTerdh & TR 3 Hey FHATIITH giell ¢

(C) O The heat produced is directly proportional to the time of passage of current.
(Chosen option)

ST FSHT, TRT & T & THY 3 TN FAGTIT gl ¢

(D) O The heat produced is directly proportional to the current passing through
the conductor. (Correct Answer)

3cqTfed FSAT, ATed & AL 7 { TIRA 8ot arell URT 3 HIE GATIrc! gl 81

Question No.17

Contractile proteins are found in .
Hepararelter Widter H 9T S
(A) O bone (Chosen option)
afer
(B) O blood
Lok
(C) O cartilage
3UTTE

(D) O muscles (Correct Answer)

SIRE

Marks: 1.00
Bookmark

Question No.18

In magnesium chloride, the respective valency of Mg and Cl are:
HIANTATH FARTSS 7, Mg 3R Cl 1 e FISTHATT gl &
(A) O 2and 1 (Correct Answer) (Chosen option)
2 31
(B) O 1and1
131R 1
(C©)O 1and2
13k 2
(D) O 3and?2
33k 2

Marks: 1.00
Bookmark

Question No.19

The three equations of motion are valid only when
giet 9X &7 a1fe o et FHieRoT 38 g &
(A) O the velocity of object is constant (Chosen option)
g T 91 f&eR
(B) O the acceleration of the object is uniform or constant (Correct Answer)
T T cal0T THAATA AT &
(C) O the displacement of the object is zero
T T AT
(D) O the initial velocity of object is zero

TE T IRTHR 97

Marks: 1.00
Bookmark
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Question No.20 Marks: 1.00
Bookmark
Sound cannot travel through

&qfel S ATCTH T IMET Al H Tohall &
(A) O Solids
IR
(B) O Air
g&ar
(C) O Vacuum (Correct Answer) (Chosen option)
GG
(D) O Water
olel

ave & Print
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